Derivative of Sine and Cosine ... Set 1

Calculus Trig Derivatives Worksheet #1
—sinu = cosu *u' —cosu = —sinu=*u
dx dx
itanu—seczu Ty —cotu = —csciur i’
dx - dx
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—secu = sacutany « u’
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—escu = —escu cotu = u’
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Finding a Derivative of a Trigonometric Function In
Exercises 39-54, find the derivative of the trigonometric
function.
sin x
39. f(t) = *sint 42 flx) = =5~
43. f(x) = —x + tanx 44, y =x + cotx
51. f(x) = x* tanx . 52. f{x) = sinx cosx

53. y = 2xsinx + x%cos x

54. h(6) = 5@sec 6 + ftan 6
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Finding a Derivative In Exercises 43~64, find the
derivative of the function. d . d .
—sinu =cosu »u —cosu = —sinu*u'
dx dx
d tanu = sec? u » u' S oot csc?
-_— 4 ¥ 3 —_— = - *
dx ax ot cueu
d , d ,
—secu = secutanu + u —escu = —cscucott * u
dx dx

43, y = cos 4x 53. y = 4sec®x

54) g(x) = 5 cos’mx | 58. h(r) = 2 cot?(mt + 2)

Finding a Derivative In Exercises 1-16, find dy[dx by
‘jmplicit differentiation.

11. sin x +20052y =] ' 13. Sinxmx{l 4 tany)

14. coty=x—y 15, y = sinxy
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